$$
\begin{aligned}
T_{n+3} & =T_{n+2}+\sum_{j=1}^{\infty}\binom{n+2-2 j}{2 j-1} \\
& =T_{n+2}+\sum_{j=1}^{\infty}\left[\binom{n+3-2 j}{2 j-1}-\binom{n+2-2 j}{2 j-2}\right] \\
& =T_{n+2}-T_{n}+\sum_{j=1}^{\infty}\binom{n+3-2 j}{2 j-1} \\
& =T_{n+2}-T_{n}+\sum_{j=1}^{\infty}\left[\binom{n+4-2 j}{2 j}-\binom{n+3}{2 j}\right] \\
& =T_{n+2}-T_{n}+\left(T_{n+4}-T_{n+3}\right) .
\end{aligned}
$$

Thus we get

$$
T_{n+4}-2 T_{n+3}+T_{n+2}-T_{n}=0 .
$$

Also solved by C. B. A. Peck, John Wessner, David Zeitlin, and the Proposer.
[Continued from page 310.]
20. Servius, Aeneid, IV.
21. For example, titles of standard sizes, Vitruvius De Architectura V.
22. C. R. Lepsius, die Langenmasse der Alten, Berlin (1884).
23. A. Bosio, Roma Sotterranea, Rome (1632).
24. J. Greaves, A Discourse of the Romane foot and denarius, from whence the measures and weights used by the ancients may be deduced, London (1647).
25. Since 1960, this work has benefitted by grants from the worshipful Company of Goldsmiths, University College, London, and the Leverhulme Trust, and particularly from the great encouragement from Prof. Roger Warwick, Guy's Hospital Medical School. I am most grateful to Dr. George Ledin, Jr., for his valuable suggestions, and I thank him and the Fibonacci Association for inviting me to prepare this paper.

